A, Besthoods, Ine. 15 planning w spend $14 million on adverdsing. The company expecss
this expendicure to resuir in annual incremenal qash fows of $1.6 svillion in perpetutey.

Discounted Cash Flow Applications The corporaie opporaunity cost of capital for this type of project Is 12,5 porceat,

A, Caleulare the NPV for the planned advertisiag,
B, Caleulate the internal e of rearn,
(. Should the company go forward with dhe planned advertising? Explain.

1. Given the following cash flows Bor a rapital projecr, caloulase dhe NPY and [RR. The
5. Wesscore—Simith s a privately held investment management company. Twa ather invest-

seguired rate of return is 8%.
AL C(j‘{l‘s{‘ing om Pﬂn]CS, \th—,h WAL L0 %C J.ﬂ‘q].“rf(i, hﬂvc COn[’A.\.‘I(’d \‘(”C5(({¥ig"'3mii§i

shour purchasing dhcir business, Company A's price is £2 midlion. Company B's price s
£3 milfien. Afrer analysis. Wesscorr—Smith estimates that Company A's profitabilicy is
Cash tlowe —50.000 15,000 15,000 20008 10,800 5,000 cotsistent with a perperuity of £300,000 a year. Company B's prospects are consistent
with a perpenicr of £435.000 8 year, Westeoet~Smith haza budget that limits acquisidons
tr 2 masimum puschase cost of £4 million, Tts opportunity cost of capiral redative 0

Your 3 | 2 ] 4 3

2. Given dhe following cash Bows for a capital project, cafeulase its payback period and underizking cither projecr i 12 peroent.

discounted payback period. The required mee of rereen is 8%, The discounied paybade

pesiod is: A Determine which company or companies {if any) Westcotr—-Smith should purchase
according o the NPV sule,

Yeur i} i 2 3 4 3

Cash flow —541,04Y; £5,000 15,004 200G L0, D00y 5,800 B. Determine which com pany or a:cimlp;\nie:s {if any} Westeort - Smith shoukd pnthas::
according o the IRR rule,
€. Seare which company er companies {if any) Westcotr-Smith should puschase. Jusefy

4. An inveszment of $136,000 s expecied w0 genesate an altor-tax cish fow of $100,000 in FOUSSRIVEL

one yeas asd another 120,000 i oo vouns The cost of capital is 10%. Whar is dhe
internaf rate of terurn?

6. Kim Corporasion is considering an investment of 730 million won with expecred after-
s cash inflows of 175 mallion won per year for seven veans, The reguined rave of reram s
10%, Hupressed in vears, the project’s payhack period and discounwd pavback period,
respectively, aze dorest 1o

7. An fvesment of 320,000 will create a perpetsf afior mx cash Row of $2.000. The
sequired saee of reown is 8%. Whar is the investment’s profiabibicy index?

§2. Projecrs 1 and 2 have similar oudays, although the patterns of furnre cash flows are
different. The cush Hows ax well a5 the NPV and IBR for the twoe projects arc shown in
the foliowing ble. For both projecs, the required sare of remam iv 109,

Cash Flows
Year EH t 4 E 4 MY IRR
Pegjeee | - n 20 0 MH $3.40 21.88%
Deojece 2 -0 : 0 @ i Il[}l} 18.30 189206

The two projects are munsltly exclusive. What is the appropriae vestment deeision?
A lovest in beth projecis.

B, lavest in Projecr § because it has dhe Righer [RR.

€. Lavest in Project 2 heeause iv has dhe bigher MPY.
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